o n| AN | AN ||| oo |lco |~
Y28 2| Bl |2 |sk|28|2E (B2 |28 | |7
&) c — a | awo A< oQa|lJJa|oca|oTo | DA -
O v D C_[; =~ N O N O O 3 - ) . 3 o un -3 ]
N oo | 2 Zles |se |z |DB DB | |28 | |,
] W = ) 23 33 fa) : : © O |
T laoo — | x> | > a3 |3 - |2n |- © —
—. — U~ ~ e — ® - ® c 3 - D - @D — 0 —
o o S| e | 3a a|l=—J =2 |~ |32 35
= = c 3 c 3 —/ D [} 3 3 3 :
=] %* J0 o0 3 W0 3 3 3 ] o
— O ® 8 = 8 = 5= c c 5-(1_) -2 o
® a o8 | o8 | T a — o |2a |oc 5
N 2 0 — a — o N wm R N :
= o ce |lc® | - = — o < |3 C 5
| @ -3 |88 2| ¢ - ANE
—_ 57 |52 | L= o ~ ) ©
N g 7g | I g ¢ =
— 3, ® ® O = 0] -
= = 2 5 2.
o g @] 8 @]
5 S )
o |
wn 2,58 2,36 148,82 151.40 151.18 . Wpust deszczowy 500 __ . _ — —
~ 1,58 | 1,36 |149,82 A T
1,25- |
114981 ||| 14910 | ks200 proj. (odc. K6-K7)_ __ __________________ & _ | i
. |
i Q !
- |
~ .
o ) _ \
> 3| 162 | 144 0a978) | ||| B i
O ~ S | 3,77 | 3,59 [147,63|151,40151,22 _Studnia DN1200 (D40O> ‘::FS‘,;:::,; ,,,,, —
~ g =160 | 1,42 [149.80 ~patrz rys. nr 5.1 S \
— © = - \
- ~— \0 .
- 1,78 | 1,36 (14982 | | | _ !
) ' 2,78 | 2,36 |148,82[151,60[151,18 _Wpust deszczowy 9500 :::::.&ﬂ_ﬁ
] (D400) -patrz rys. nr 5.4
W 2,75 2,36 149,65 152,40 152,01  Wpust deszczowy 500 _
o 175 | 1.36 1150 65 (D400 -pafrz rys. nr 54 [ EFH_
121- [T T T T T T T B !
1150,64 | | | ____|! 149,63 | ___ ks200 proj. (odc. K7-K8)_ _ _ ___ __________________ 1‘.,,, : ,,,,,,
© |5 |
3 | < |
- " _ \
'; I |
2 S | 172 t440es06t| | | o | |
o —~ [ 5 [ a70] a51[147,50]152,33 152,08 _.Studnia DN1200 (D40D) _ _ .
s = = 1,70 | 1,42 1150,63 -patrz rys. nr 5.1 i ————————— i
— oo or 11 1 1 /71 71 71T 7/ /m e - |
- ~ O\O .
> 1,556 | 1,36 {15065 | | | | !
wn I 2,55 2,36 [149,65]152,20]152,01 . Wpust deszczowy ¢500 _ j‘f;f;f;f;f;f;f; —_—
» (D400) -patrz rys. nr 5.4
w 2,58 2,36 150,02 152,60 152,38 __Wpust deszczowy 95000  —
o 1,58 | 1,36 |151,02 _ (DA0OY mpafrz rys. or s A T T T il
1,28- l
151,00 || 150,15| _ ks200 proj. (odc. K8-K9)_ _ _ __ _ _____________________ ‘P, - 1‘ ,,,,,,
@ |5 |
3 | < |
1 h . ‘
= T ,‘
2 3| 147| 144095098 | |} L _ i
O — > 5,00 | 4,97 |147,45]152,45 152,42 __Studnia DN1200 (D400 ‘:;4,1,1:1::::,; ,,,,, — _
o1 . 2 P15 | 1,42 [151.00 -patrz rys. nr 5. N ————————— l
[EEN (0] o 11 1T ——0—~""——~«"V&WH+—71-—_—_ - \
- ~— O\O '
> 1,18 | 1,36 151,02 | | 0 | _ !
wn I 2,18 2,36 150,02 /152,20 ]152,38 . Wpust deszczowy ¢500 #
ol (D400) -patrz rys. nr 5.4
wn 2,57 2,36 150,33 152,90 152,69 . Wpust deszczowy 500 _ ———
» 1,57 | 1,36 |151,33 (D800 mpafrz tys. o 5.4 T T T T -
1,27- ’\
. \ !
. - 151,32 ||| 150,68 | ___ ks200 proj. (odc. K10-K11) - ___ _ ____ __________________ p-f-----
w e !
o < |
1 h . ‘
= |/ |
2 3 | 182 Y44 sie) | | | B i
I v > 9,29 5,37 |147,36 152,61 152,73 Studnia DN1200 (D400 | Jﬁr, ''''''''''''''''' ‘
- , z =l o130] 1,42 [151,31 i
(S oo o
- ~ \0
> 1,27 | 1,36 |151,33
wn ' 2,217 2,36 1150,33]152,60]152,69
>
wn 2,13 2,36 149,67 151,80 152,03 _ Wpust deszczowy 300
w 113 | 1,36 [150,67 (D400 pafrz rys. or 5.4
1,25-
o 1150,66 | | | _____|! 150,12 | ks200 proj. (ode. K21-K20) _ __ _ ____ _ ________________
. (@)
w <
3B
! ()] —
o 1
~ 3| 109 L44lgso63) | | | _
) g S | 4,54 4,89 |147,18]151,72/152,07 Studnia DN1200  (D400) L G :
w T ISatrs Fvs o ST T T T T e — =1
@ Pl 107 ] 1,42 [150,65 palrz tys o
AN o S s e
: S
~ 083 | 136 15067 | | | |
wn ' 1,83 | 2,36 1149,67(151,50]152,03 __Wpust deszczowy 9500 @@ ————.—.—.-
w (D400) -patrz rys. nr 5.4
w 2,55 2,36 147,75 150,30 150,11 __Wpust deszczowy 9500 —
N 1,55 | 1,36 148,75 (D800 pafrz rys. or 5.4 T ‘
1,27- :
| 148,741 | | ____|] 148,46 | ____ «ks200 proj._(odc. K18-K19) _ _ __ ____________ ‘? T ,,,,,, |
© |5 ol
o) < |
e IS} _ |
5 I \
o § 1,59 1v44 148,71 7777777777777777777777777777777 _ ‘
O = S | 3,22 | 3,07 [147,08]150,30]150,15 _Studnia DN1200 (D400 &E::,; ,,,,, _
™ - =z =157 1,42 148,73 “patrz rys. nr 5.1 =]
= © s 1 1 1 1 1 1 1 "7 77 o i
= | 15| 1,36 |14875 | | | | B |
W I 2,15 2,36 [147,75[149,90 150,11 __ Wpust deszczowy 500 e '
N (D400) -patrz rys. nr 5.4
wn 2,50 2,36 147,40 149,90 149,76 _ Wpust deszczowy 500 _
- 150 | 1,36 [ 148,40 _(DeB0 mpafrz rys. ar 5.4
1,32-
114839 || ____|! 14794 |  ks200 proj. (odc. K18-K17) _ __ _ __________
© |5 |
3 | < |
1 h . ‘
= T ,
2 3 | 13| L4dles36) | ||| - i
O = S | 272 | 2,82 [146,98(149,70 /149,80 _.Studnia DN1200 (D400 _ _ . _ gL __
- : =z Pl 1,32 1,42 [148.38 -patrz rys. nr 5.1 ===
[SN foe) o 1 1T 71T 71 71T 17 @770 - \
- ~ ° .
Iy 1,30 | 1,36 |14840) | |} & !
%) | 2,30 | 2,36 |147,40149.70]149,76 _Wpust deszczowy 9500 ]—d—[
= (D400) -patrz rys. nr 5.4
wn 2,03 2,36 147,67 149,70 150,03 ___Wpust deszczowy ¢500 _
< 1.03 | 1,36 148,67 - DR tpetrzmye m S h ==t T
. = »‘
w 114866 | | _____| 145,96 ks 250- istniej._ __ __________ e ] | _
w o P \
' |
'\g 3 | 1.1 | L48 (14863 | | | : |
=1 Studnia istniej. DN1200 N (e |
g 2 i 2,84 | 3,21 1146,90(149,74]150,11 wykonae pokrycie D400 — — = p————— —
~ T | 099 ] 1,36 |148.75 , _._-patrz rys.or 5.3 _ . _ . _ . _. =
Z S > |
oo @ !
~ 148,77 ||| 147,75 | _ __ _ks200-proj. (odc. K17-K16) ___ __________ R | I
& .
2 i
i i
|
{11] 13614879 | | | |
W 2,11 | 2,36 |147,79/149,90]150,15 __Wpust deszczowy 9500 L e
o (D400Y -patrz rys. nr 5.4
wn 2,52 2,36 148,92 151,44 151,28 ,7,1@&%9@,5,20,20*wa§©0,,*5 ,,,,,,,,,,,,,,,,,, —
[N (D400) -patrz rys. nr 5.4 I =
2 sz [ 16 [uasss oan. || el e i T
- 439,91 | L L i gaz _stniej. DN250 _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ ____________ Jr,’,,,
. 9] l
w < |
ED ASSE |
N |l
1 (e)) —_ ‘
o 1
— 3 |
) 2 S | 1,60 | 1,44 |149,88151,48|151,32 _ Studnia DN1200 (D400 f —
'E o [ -patrz rys. nr 5.1 T
- = o i
‘o S i
<@ 1,52 1,36 (14992 | | 0 0 _ .
wn 250 | 2,36 [148,92(151,44]151,28 . Wpust deszczowy 500 _ :::::1EH_L
= (D400Y -patrz rys. nr 5.4
&
g 3
:
5
m
0
S
5
T €53 2 'E'Uﬂ = 3
9| 329 5 282 5 i
3| GRI 29 4 R
o gzg £
sc g o =@
°G 3 U |0C
=N QD = N O
28| =< |<Q| £ |sNuw
53 | B8 | E| B |Z€S
30 ®© B z o |E8 o
= e o > =2
o O = z |23
2 o '; mZog
& E © E E;U
P33 z N © -
of |5 3| &3
= o g =< AN
» O byl ﬁ;p
%} é w O
5 m| gf
=) - 8E
© 00
= > m
; <
& ==
8 o <
= w8
S m
gz 25
Z > > %
% = s
:h pol BN =
w? 8
Z
z
PN
c




